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Abstract: Earth Planetary telecommunications relativistic time delays are given by ΔΓ = 16πGM/c³a(1 -ε²(0)/4) = 260.3 μ s applied to planet mercury resulting in a distance 

r = c ΔΓ= 78.09 km or  or a velocity v = rt = (78.09x1) km/sec or Earth's motion of 29.81 km/sec along with Planet Mercury side  time delay of 78.09 km – 29.8 = 48.28 km/sec. This time delay results in visual effects given by this formula: 

W '' = (-720x36526x3600/T){√ [(1-ε²)/(1-ε)²]}(v/c)² =43.11''/century meaning space-time (x, y, z, it) can be sent back to sender.      

Solution: ΔΓ = 260.3 μ s for planet mercury [see my article relativistic time delays]

And a distance of r = c ΔΓ, or a velocity v = c ΔΓ/T = 1sec = 260.3μ s x (300,000km/sec) 

or v = 78.0 km/sec and taking 29.81 km/sec Earth motion velocity results in 48.28km/sec

 W '' = (-720x36526x3600/T){√ [(1-ε²)/(1-ε)²]}(v/c)² 

        = (-720x36526x3600/88){1.552]}(48.28/300,000)² =43.2''/century

With T = 88 days and ε = .206; c = light velocity = 300, 000 km/sec 

Meaning space-time (x, y, z, it) can be sent back to sender without loss of subject. This 

solution says that Astronomers can not read their telescopes correctly because when they do their measurements the motion of planet Earth of 29.81 km/sec and planet Mercury of   

48.28 km/sec in their orbit around the sun there would be a 78.09 km/sec velocity time delays or a mistake of 78.09 km divided by light velocity results in 260.3 micro seconds miss telecommunications readings and these miss telecommunications measurements explains what 19th century Astronomers were Puzzled by and what 20th century Einstein and others fictionally thought as space-time and the whole thing is a mistake that need to be corrected and Einstein's relativity dumped into the dumpster because it stunk my sugar glider   

